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A curve in pol: ordinates is given by: r =12 4 2coséb. —
Point P isfat § = 26T 2 260
oint Pisfa 2y C= \Z X LCO%(%{@ %T\" (Oc‘

a.) Find polar coordinate r for P, withr > 0and 7 < 6 < 37”

r= (O~\

b.) Find cartesian coordinates for point P.

(7
z= ((cS5€~ = 6 -\ (Gb(g{\-\\ N s

yv= ¢ 3> = o\ s (T &7

c.) How may times does the curve pass through the origin when 0 < @ < 277

Answer: = \_é @
bN O = \T i L (oS-

& = (o = -G
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o Convert zy =9 to an equation in polar coordinates.

4 g X 2 = A
(e5C - 5% (D
Note: use "t" for 8
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